Day 3 AWPC World Championships 2018

Morning Competition
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Flight 2

Fit : Bt |WiCls e RH Squat | Squat
. B Name Age Div g (Kg)# i Squat 1 ) |
B| RayHiner |70 M M7 R ABPU 9.9 100 ] 06194 0
B PauBaker | 47 M M2 R ABPU %5 | 100 | 0.6206

B| PeterHayoen | 5 M M4 R ABPU 926 | 100 10629

B| RichardKemp | 58 M M4 R ABPU 871 90 [0.6432 60

B DadBushtan | 56 M M4 R ABPU 9.4 | 100 {0,612

B | Robert Worhington | 52 M M3 R ABPU 8.2 90 [0.6450

Bl MacnKdeta | 40 M ML R ABPU 8131 90 [0.6487

B| ErcComay | 5 M M4 R ABPU 8851 9 | 0.644

B| GainBowne | 27 MO R ABPU g7.7 | 100 1 06144 !

B | Nathaniel Robinson | 24 M 0 R ABPU 896 9 [0.63% i

B| DanelHayes | 2% M 0 R ABPU 9.5 | 100 {06123 )
B[ JanHichcock | 51 M M3 R ABPU 97.0'| 100 {06161

B| AdamGasson | 37 M0 R ABPU 85 90 | 06M

B| MattRobinson | 2 M 0 R ABPU 9.8 | 100 {0,697

Bl JonDedin | 47 M M2 R ABPU 9.4 | 100 ] 06101 i
B[ RyanKonneck | 27 MO R ABPU 9.3 | 100 ] 06129 B0
B LamSamon | % M 0 R ABPU 8.6 [ 90 | 0643 )
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